CW: 7.1.4- Solving Systems without a calculator = Name:

Review:

1. Is the ordered pair (§l<,6 a solution to the equation: y = 2x - 27
@r NO Show your work: (=7 4)-2

b=%-2
(o= (o

2. Is the ordered pair (5, 8\2 a solution to the linear system:
y=2x-2 YES o Show your work:
y = 4x -10 F=2 (B2 =4 (BN -1D

%=10)-2 B=RH0-/0

3. Is the ordered pair (2,-6) a solution to the linear system:

A
- _ NO Sh k: .
3X=+43¥ 14 4 ) H( (’;.?Lsﬁj;\wﬁ‘l : Eﬂg L{‘%El"tq
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B +U\ -1 ~lo=-1

- 1 4. How many solutions does thls linear system
4 have?
EV.. v
If possible, list solution(s) here: { | \ Qd\
7
. 5. How many solutions does this linear system
/ have? No <0 (wtions
: If possible, list solution(s) here:
d
;;,l/;’ ¥ 6. How many solutions does this linear system
— L lhae? (ol +e\u6 M oNW Sulaiond
If possible, list solution(s) here:




A~ 7. Graph the following system.®y = 2x - 5
\;;\ ey =-2/3x+3
f Give the solution to the system:
as ., Give the solution to esysem(xb,tﬁi\
Check the solution algebraicall =
! CPlug i =23y = (@)D
Wi | == f = —S+5
y f = i =] =
i 8. Graph the following system. =y =x -4
. o-4x + 4y = -16
EEERERE i VT vy
| Give the solution to the system: o E;’) HX -1l
IBBBE B n m+et\@ mar\l@ SOLUtinrnd H 4
" Check the solution algebraically: Y =X- 1,/
amy.ar.g
: ¥ 9. Graph the following system. y=2x +1
vy VA U Tt 13
T FT] N T il (T
: :_yf /: —* Give the solution to the system: No Solution %— ._.:( =
{//J ‘ Check the solution algebraically: =D
| ) I A
41
N 10. Graph the following system. p = 4x -2
N y=—-x+3
iH - Give the solution to the system: (4,1
] O[T 2 Ny se—r?
——1 1 I\_| Check the solution algebraically: )= Y (-2 -l=-4+3
= = / = ;;2. = l = ~{ L~
s f —_—,‘! -
_,‘ 11. Graph the following system. 2§ 2y =4, R4z -2X +4q
i Rr+8y =16, >, oy
! Give the solution to the system: 10finitely Many &y o s(va 16
3 Ll : Solutions ) 4 g
i Check the solution algebraically: QB= ~X+d
N
\ 12. Graph the following system. ¥ =4x —3
N1/ y=—4x+5
Vi L1
| .?,.\\z ] . Give the solution to the system: _ (ﬁ 2 1 (l\ gl
7-' Check the solution algebraically: = N {* -4+5
o bt =

=l




